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1. Limit on Provision of PFR – 
New resources are limited to offering 20% of their HSL into the PFR market.  This limit is an unnecessary restrictive on resources participating in the Ancillary Service market.  Pump hydro storage should be able to offer more than 20% of its capacity into PFR.
Answer:  A better way to handle this would be to allow PFR to be a percentage of the overall ERCOT PFR market.  Like what ERCOT is proposing on limits of providing Resource Regulation to 25% of the overall Regulation Market.  This should also be based on the amount of output for which a resource qualifies for any specific Ancillary Service.
Why:  Resources like pump hydro storage with its primarily focused on providing ancillary services may offer its full capacity to PFR or FFR or Ancillary Services.  Setting strict limits on the amount of PFR to be awarded to new resources such as pump hydro storage does not work because the current HSL test in the protocols is designed for slow ramping resources.  Pump hydro is much faster ramping, therefore limiting the amount of PFR to a fraction of the established HSL, which will effectively prohibit pump hydro storage from providing its full capacity in PFR.  Pump hydro storage can provide ERCOT with fast response which is perfect for PFR.

ERCOT should not limit pump hydro storage from fully participating in the PFR market.
2. Regulation Reserve Service 
What’s the compensation?  How will fast resources be compensated for the additional performance provided?  Once we know what the compensation arrangement is, then a specific service structure can be determined.
Answer:  Pay-for-performance for Regulation Service and FRRS needs to be established  
Why:  Pump hydro storage needs to know what pay for performance will be.  We need to be able to show investors how we will be compensated.
3. FRRS cap
Why establish a cap on FRRS when ERCOT wants to attract resources to enter the market. 
Answer:  Send the signal to all resources directly so ERCOT can receive the fastest response and receive the most benefit with no cap.
4. Performance Measurement - Regulation
There’s no specific performance metric for Regulation service.  

Answer:  Use the GREDP-type of performance metric.
Why:  ERCOT needs strict performance criteria that measures at a high frequency to more accurately measure the differentiation between resources and thus pay for their actual performance.
5. Pricing and Procurement Document
ERCOT needs a mechanism to pay-for-performance.
Answer:  ERCOT has not proposed a price differentiation between slow and fast resources providing FRRS.  Therefore we suggest a pay for performance that is based on the how accurate the resource responds and the amount of service provided. 
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